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World Spelling Foundation
Grade 6 Mock Test

Exam ID: 105

 Rearrange the chunks of letters to make a word.

pen cy den de

______________

 Put the chunks of letters in the right order.

tom cus ac

______________

Put the chunks of letters in the right order.

que con nce se

______________

Question: 1 of 50 Marks: 1QID: 330

Question: 2 of 50 Marks: 1QID: 331

Question: 3 of 50 Marks: 1QID: 332
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Find the missing word to complete the sentence

The high jumper cleared the bar with ________________ ease.

A. uneventful B. disrespectful

C.  effortless

Choose the correct option to complete the sentence.

The novel was written from the __________________ of the protagonist.

A. overboard B. viewpoint

C. upheaval

Find the missing syllable to complete the word:

defi _________ ly

  

 

    

A.     late B.     pate

C.  nate

  Unscramble the letters to make a word:

        ydorap

         ___________

Question: 4 of 50 Marks: 1QID: 336

Question: 5 of 50 Marks: 1QID: 337

Question: 6 of 50 Marks: 1QID: 338

Question: 7 of 50 Marks: 1QID: 569
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Unscramble the letters to make a word:

bpybalor

___________

Unscramble the letters to make a word:

ngbaira

___________

Unscramble the letters to make a word:

       etavitecad

             _________________

Select the word which best fits the meaning:

    Someone whose job is to give advice to another

      
  

 

A. Despondent B. Pheasant

C.   Consultant

Question: 8 of 50 Marks: 1QID: 342

Question: 9 of 50 Marks: 1QID: 567

Question: 10 of 50 Marks: 1QID: 568

Question: 11 of 50 Marks: 1QID: 343
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Which word best fits the meaning of the following sentence:

         The state of remaining unknown

  

 

A. Compatibility B.   Anonymity

C. Reliability

Select the word which best fits the meaning:

        The period in which a child develops into an adult

   

A. Indulgence B. Clearance

C. Adolescence

Which word best fits the meaning of the following sentence:

         Reflection on a past event

     

A.   Retrospect B. Emphasize

C. Exaggerate            

Question: 12 of 50 Marks: 1QID: 344

Question: 13 of 50 Marks: 1QID: 345

Question: 14 of 50 Marks: 1QID: 346
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Find the hidden word in the bunch of letters (11 letters): 

         fgvsevcaccessoriesdves

         ____________________

Find the hidden word in the bunch of letters (7 letters): 

          ssdydodysseydfsdf

            ________________

Find the hidden word in the bunch of letters (9 letters): 

        dgsdinsolencesdfen

        _______________

Choose the loan word which best fits the meaning:

           A  large group of soldiers 

A. Concerto B. Elite 

C. Battalion 

Question: 15 of 50 Marks: 1QID: 351

Question: 16 of 50 Marks: 1QID: 352

Question: 17 of 50 Marks: 1QID: 353

Question: 18 of 50 Marks: 1QID: 356
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Choose the correct loan word to replace the underlined word:

       The audience was awed by the dancer’s twirl.

A. Croissant B. Pirouette  

C. Crescendo

Choose the loan word which best fits the meaning:

       The human body from the neck to the hips 

        

A. Fiancée B.  Petite 

C.  Torso

Choose the synonym of the word "perfectly".

A. Unbelievably B. Impeccably

C. Partially

Choose the synonym of the word " surplus".

A. Seizure B. Surfeit

C. Seismic

Question: 19 of 50 Marks: 1QID: 357

Question: 20 of 50 Marks: 1QID: 358

Question: 21 of 50 Marks: 1QID: 361

Question: 22 of 50 Marks: 1QID: 362
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Which word could replace the underlined word?

       The secrecy of the project meant that I couldn’t tell anyone.

A. confidentiality B. dark

C. speciality

Which word could replace the underlined word?

       Dad had to part the two squabbling children.

A.  appreciate B. appropriate

C. separate

Which word could replace the underlined word?

       Mom will chide me for not taking out the trash.

A. encroach B. reproach

C. wallows

Which word is spelled incorrectly in the following sentence:

       We have to protect the environment to ensure its sustaneability. 

A. environment B. protect

C. sustaneability 

Question: 23 of 50 Marks: 1QID: 363

Question: 24 of 50 Marks: 1QID: 364

Question: 25 of 50 Marks: 1QID: 365

Question: 26 of 50 Marks: 1QID: 442
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Identify the correctly spelled word.

A. Forcibley B. Forcibly 

C. Forcibily

Which word is spelled incorrectly in the following sentence:

       There was utter maihem when a spider fell on Maddy’s head.

A. Maddy B. spider 

C. maihem 

Write the word corresponding to the image.  (8 letters)

M_______

Question: 27 of 50 Marks: 1QID: 443

Question: 28 of 50 Marks: 1QID: 444

Question: 29 of 50 Marks: 1QID: 447
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Write the word corresponding to the image.  (9 letters)

S_______

Write the word corresponding to the image. (13 letters)

W______

Question: 30 of 50 Marks: 1QID: 448

Question: 31 of 50 Marks: 1QID: 449
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Choose the word with the correct prefix to complete the sentence.

     I groaned as I thought of the _________________ damage I had caused.

A. irreversible B. imreversible

C. inreversible

Write the word in brackets with the correct prefix to complete the sentence: 

        Cheating in an exam could lead to a ______________ (qualification).

Choose the word with the correct prefix to complete the sentence. 

       We are not allowed to _____________ our dogs in the national park.

A. disleash B. unleash

C. illeash        

Identify the word with the correct prefix. 

A. Misprecedented  B. Disprecedented 

C. Unprecedented D. Inprecedented 

Question: 32 of 50 Marks: 1QID: 488

Question: 33 of 50 Marks: 1QID: 489

Question: 34 of 50 Marks: 1QID: 490

Question: 35 of 50 Marks: 1QID: 491
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Write the plural of the given word .

         Criterion                    _______________ 

Write the plural to complete the sentence:

       I placed the extra information in the sentence inside _______________ (parenthesis). 

Choose the correct plural to complete the sentence:

       We used social ____________ to help promote our school’s fundraiser.

A. structures B. medium 

C. media 

Choose the correct plural of the given word:

          Crisis

A. Crisises B. Crises

C. Crisis

Question: 36 of 50 Marks: 1QID: 496

Question: 37 of 50 Marks: 1QID: 497

Question: 38 of 50 Marks: 1QID: 498

Question: 39 of 50 Marks: 1QID: 499
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omplete the compound word with one of the given options. 

       sand-________

A. pond B. life

C. racket D. castle

Choose the correct compound word to complete the sentence.

       The pirates cut loose their prisoners before throwing them __________________ .

  

A. underboard B. sideboard

C. overboard D. highboard    

Choose the correct compound work from the given hint:

        heavy wind, rain, and lightning

A. Thunderstorm B. Snowstorm 

C. Tornado D. Tsunami

Identify the correct compound word:

A. Scarebird B. Scarepigeon

C. Scarecrow D. Scarepea

Question: 40 of 50 Marks: 1QID: 500

Question: 41 of 50 Marks: 1QID: 501

Question: 42 of 50 Marks: 1QID: 502

Question: 43 of 50 Marks: 1QID: 503
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   Choose the correct spelling for the given image. 

A. Marshmello B. Mashmallow

C. Marshmallow 

Choose the correct spelling for the given image. 

A. Icycle B. Icicle 

C. Iccle 

Question: 44 of 50 Marks: 1QID: 513

Question: 45 of 50 Marks: 1QID: 514
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Choose the correct spelling for the given image.

A. Brockoli B. Brocli

C. Broccoli 

Choose the correct spelling for the given image. 

A. Wheelchair B. Weelchair 

C. Wheelcare

Fill in the blanks in the sentence using the given words.

         The vultures ________________ above the knight as he drew his ________________ . (sword, soared)

Question: 46 of 50 Marks: 1QID: 515

Question: 47 of 50 Marks: 1QID: 516

Question: 48 of 50 Marks: 1QID: 504
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Choose the correct option to complete the sentence. 

        She was not f________________ by his brother’s bad behavior.

A. fazed B. phased 

C. faced 

Choose the correct option to complete the sentence. 

         The army cadet knew a unique form of ______________ arts.

A. marchal B. marshal

C. martial 

Question: 49 of 50 Marks: 1QID: 505

Question: 50 of 50 Marks: 1QID: 506

--- END OF QUESTION PAPER ---
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